IR 14.3

ofl A AIg[I [AcRel A ([AdRHI 68 AIESIol HIRIS dlevrauRigl 2410 B. 1 Hilkdlol HeRY,
HE™S ol 6i5dS ML Aal AHal A1),

WS auns (Bsuul) A sl vy
65 - 85 4
85 - 105 5
105 - 125 13
125 - 145 20
145 - 165 14
165 - 185 8
185 - 205 4
HERIS ¢
HIRIS dquRIRl | A16S)dl] HeAEHd xi—a
. . di=xi—a ui_ fiui
(AsHAi) | 2AvA1 (f) (x;) h
65 -85 4 75 —-60 -3 —-12
85-105 5 95 —40 -2 -10
105 - 125 13 115 -20 -1 -13
125 - 145 20 135 = a 0 0 0
145 - 165 14 155 20 1 14
165 -185 8 175 40 2 16
185 - 205 4 195 60 3 12
sd 68 7
sies Wl Y f; =68, Y fiu; =7, a = 135 2al h = 20 [S3d) HA .
Zﬁw)
. X=a++ h
( X fi
7
s~ X =135 (—) X 20
X + 68

~ ¥ =135+ 2.058
« ¥ =137.058 = 137.06
HEAS YA B 5 A16Slall 2RI HIRAS dl¥yuRARA 137.06 AisH B.

GIgaS

olgas 93 = 125 — 145

3] doliegf = 20

oigcts adlofl ezl (D) = 125
oigcs adlall 2119 (f;) = 20




oigds gdlofl 12106l 9dlef] A9 (fy) = 13
o1gcts ddlell el 4dfefl 2419(Ti (f,) = 14

fi—fo

~.o1c4s:l+(—)><h

3 2~ fo~ Fo
-0168—125+( 20— 13 )><20
$ I8Gs = 2(20) — 13 — 14
. — X

01§C-IS 125+(470_27> 20
. 0‘|§C‘|S =125+ (E) X 20
AN C-IS—125+140
L olgds = 13

» 6lgdS = 125 + 10.76
.~ G1gAS = 135.76
Gigds AU B 3 21eSlol #eddH HIRAS dly¥auril 135.76 AsH B.

HERRY :
HIRIS guRiRl ( ASHAHI) 2estoll v | - 24kl gk
(o) (cf)
65 -85 4 4
85-105 5 4+5=9
105 - 125 13 9+13=22
125 - 145 20 22 +20 = 42
145 - 165 14 42 +14 =56
165 - 185 8 56 + 8 = 64
185 - 205 4 64 + 4 = 68
54 68

&d,n =68, ael, 2 = % = 34. 1 2ddISel 93] 125 — 145 i . del,
HEJRY 9ol = 125 — 145

HeRY galofl 9of dolief = 20

e yolofl 214141 (1) = 125

HEU2€ 9dlofl A19[T1 (f) = 20

He28 ydlofl 2412106l Y2¥all 241 41T (cf) = 22
n

L 22
Hbll%&=125+( — >><20

12
v HERYRY =125 +ﬁx 20



t HEARY = 125 + 12

. HERRY = 137

HERY YAA B F 50% 2Aleslall HIRAS dlwduRu 137 AsH Sdi AW B al 50%
218810l HIRAS dl¥guRI=l 137 1S Sl 9y B.

Ael, 2 Herddl RalAaial ofl HIU HERUS, GEAS Aol HEURE HglsH 137.06, 135.76
ol 137 A As o yAai Bl B.

% oflA AN AIYRI ARl ol HERA 28.5 814, dl x Adl y ofi YA Me :

Qal-2id1a 2097
0-10 5
10 = 20 X
20 - 30 20
30 - 40 15
40 - 50 y
50 - 60
54 60
. gl —didrid A14[31 (f)) 2 219 (cf)
0-10 5 5
10 - 20 X 5+x
20 - 30 20 20454+ x=25+x
30 - 40 15 154+25+x =40+ x
40 -50 y y+40+x=40+x+y
50 - 60 5 5+440+x+y=45+x+y
sd 60

&d, n =60, aell, 2 = % = 30. 21 214dISel 93 125 — 145 Hi . ael,
45+x+y=60=>x+y=60—45=>x+y=15........ (D

HERIRY = 28.5

HERIRY 9ol =20 — 30

Hee galofl 9ol dolief = 10

e yolofl 21411 (1) = 20

He22Y ydlofl A19[T (f) = 20

He2Y 9dlofl AA121N6ll Y9Tafl 24U AH1Y(T (cf) =5 + x



n
2=

L HERARY = + X h
f
20
. 28.5—20 = (w>x10
20
T it
2
~ 85%x2=25—x
~ 17 =25 —x
W x=25-17
~x=8
Alsel (1) Hi x = 8 ysdi,
~x+y=15
~8+y=15
~y=15-18
ny=7

aell, x =8d y =7 H0Ql.

A8 DYoidlHI A%oe, 100 Ul[GR{IERS1of] G Hi2 oflAgf [AdRel UK sY. FHoll G2 18 uNief]
agy, ug 60 uNefl 201€] gl dd] ¥ caifsailal UlfERflN Audii 21d] g1, dl daell Hexey
GarR 218,

Guz (adui) uifallauz Sl v
20 =l A1 2
25 4l gl 6
30 ol A 24
35 @l sl 45
40 €l 416l 78
45l sl 89
50 =l s 92
55 ol il 98
60 =l il 100

¥. el 2Nd AIgf [Qaer ‘el o1 UsR’ o AR 2419[TH [AdRer 8. A&l 2419/
[QaRel ol Yot 241 ASI.



Gar (i) ufecReirsid 2l 1981 (cf)
AW (f;)
18- 20 2 2
20-25 6—2=4 6
25 - 30 24— 6=18 24
30 - 35 45 — 24 = 21 45
35 - 40 78 — 45 = 33 78
40 - 45 89 — 78 = 11 89
45 -50 92 -89 =3 92
50-55 98—-92=6 98
55-60 100 —-98 =2 100
5a 100
&d, n =100, dell, 2 = % = 50 s2di A& wIadlsal (78) uof 35 — 40 i B. e,

HEARY 9o = 35 — 40

e golofl 949 daileS =5
He2e galofl 214201311 (1) = 35
HeUE 9dlofl 2A19[T1 (f) = 78

He2Y Ydlofl AA121N6l1 Y2lal] 241 41T (cf) = 45
n

il
L HERRY =+ X h
f
L HERARY =35+ [ E—— | X5

33

! 33
HERURY = 35 + —
+33 % 5
HEA2Y = 35 + 25
B 33
. HEARY = 35+ 0.76
. HERIRY = 35.76

aedl, WifeifluRslofl a8 Ga 35.76 9y B,



A8 B)Sali 40 UiESIRASll Aol YUY oSl Rcl122 Y¢l Huaii 2H1d] 240 Andd Hilsd]
ofldaii sresai exrid] B :

donsd ([Maflui) uig izl dval
118 - 126 3
127 - 135 5
136 - 144 9
145 - 153 12
154 - 162 5
163 - 171 4
172 - 180 2

uiesiiloll HeRue colg M.
. el NG AIglr [Aarel Add o8l del dol Add gt [Aareidi $adl HIR
Ay AlH1di) 0.5 cile s3] 20l Gledl1 Hi 0.5 GADY.

dong (Mallaii) viesrild 22l 2A19RY (cf)
2wl (f)
117.5-126.5 3 3
126.5 - 135.5 5 3+5=8
135.5 - 144.5 9 94+8=17
144.5 - 153.5 12 124+ 17 =29
153.5-162.5 5 5+29=34
162.5-171.5 4 4+ 34 = 38
171.5 - 180.5 2 2+ 38
§d 40

&d, n =40, del, 2 = 42—0 = 20 scli lg AHAdISel (29) 9df 144.5 — 153.5 ai ®. qell,

HeRY 9o = 144.5 — 153.5

HeRY gdlofl 9of dotief =9

He12e galofl 21420131 (1) = 144.5

He28 ydlofl A419[T (f) = 12

He28 ydlofl AA121N6ll Y9lofl 24U 2419 (cf) = 17

2=
f

7—17
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L HERIRY = + X h

v HERRY = 1445 + X9




20 —17
v HERIREY = 144.5 +( )
3 12
t HERI2® = 144.5 + (E) X9

. HEAY = 144.5 +Z

. HEARY = 144.5 + 2.25

. HERAEY = 146.25

a€fl, uiesiAldf] Heu28 dollef

X9

146.25 Al .

oflAg] SIres 400 [o1RNol ANANRAal AA1RYDRAg] AA19[TH [AcREl A0 B :

2 (sAHi) atusl qvaul
1500 - 2000 14
2000 - 2500 56
2500 - 3000 60
3000 - 3500 86
3500 - 4000 74
4000 - 4500 62
4500 - 5000 48
ANAAall 2A1YsUall HeAY M.
. AP (SAISIHI) Dnm'-"'?;g vl AU 219 (cf)
i
1500 - 2000 14 14
2000 - 2500 56 14+56 =70
2500 -3000 60 70+ 60 =130
3000 - 3500 86 130 + 86 = 216
3500 - 4000 74 216 + 74 = 290
4000 -4500 60 290 + 62 = 352
4500 -5000 48 352 + 48 = 400
sd 400

@a,n=4oo,aaﬂ,§=$=
ae,

He2Y 9ol = 3000 — 3500

200 $di H1¢ 2AddIsel (216) 931 3000 — 3500 Hi &.

Heue yoiofl 4o dailef = 500
He2e galofl 21420131 (1) = 3000
Heue 9dlofl AA19(T1 (f) = 86



HERRY gdlofl 12101011 93lofl AU 2A19(71 (cf) = 130

n
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S HRRY =1+ X h
f
001y
. HERYY = 3000 + X 500
86
200 — 130
+ HERJYY = 3000 + (—) x 500
70
~ HERYY = 3000 + 36 x 500
35000
. HERIZ® = 3000 + W

. HeA = 3000 + 406.98
. HEAY = 3406.98
dell, aNaIAlell 41Jsual] HEARY 3406.98 SIS B.

22I(als 2(Aslol AIEHiefl 100 ies UIeRys Ad uAe sAIHi AId] VHal 2iAY YA2RAAH| vHes)Hi
AIddl 242R1ofl 2AvAle) A1 (I [AcRel oflA Yo ANy :

A Avul 1-4 4 -7 7 - 10 10 - 13 13 - 16 16 - 19

w25l qval 6 30 40 16 4 4

2SI A1l A2RAcll He22 ML), 2811 14l 2421l 1uAlal] HEAS dHY Cigas M.
%. HERJR2Y

2R\l 1uy| maQ&ﬂ)HW| A 219 (cf)
i
1-4 6 6

4-7 30 6+ 30 =236

7-10 40 36 + 40 = 76

10-13 16 76 + 16 = 92

13-16 4 92+ 4 =96

16 - 19 4 96 +4 =100
sd 100

&d, n =100, aell, 2 = % = 50 5di )¢ A sl (76) 4o1 7 — 10 i . A2,

HeRRY 93 =7 — 10

Heue gdlofl 9df dotie = 3

e gojofl 411 () =7

HEU2€ 9dlofl A19(T1 (f) = 40

He28 Ydofl AA121N6i1 Y3lal] 24U 2419(TH (cf) = 36
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5—cf
2 X h

2 HE/?JE&=Z+<

100 g
 HERIRY =7
+ 40
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50 —36
e =74 (230
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A 40
 HERIRY =7 +— X
40 3
L HERIRY =T + 42
) B 40
L HERARY =7 + 1.05
. HERJRY = 8.05

aell, 2ieRlel 32 8.05 B.

HERS ©
el eS|l HeRJASHA xi—a
. . di=xij—a |u; = fiw;
Aw| AW (f)) (xp) h
1-4 6 2.5 -9 -3 —18
4-7 30 5.5 —6 —2 —60
7-10 40 8.5 -3 —1 —40
10-13 16 115 = a 0 0 0
13-16 4 14.5 3 1 4
16 -19 4 17.5 6 2 8
sd 100 ~106
siwes WYl Y f; = 100, ¥ fiu; = —106, a = 11.5 4al h = 3 (Sl HA &,
_ 2 fig
X a+< 7 >h
_ —106
x =115 ( 100 ) X 3
o5 318
X =115 950
~ Xx=115-3.18
X =832

aell, 212RRla HeRS 8.32 B.

GgES
ogcs 93l = 7 - 10
991 doligf = 3




oigds gdlofl a1 () =7
oigcs adlell 219 (f;) = 40
o1gcts ddlall 2119101611 93¥ofl 2419 (71 (f) = 30

o1gas 9dlofl Uienell gdloll A9 (f,) = 16
) B fi—fo
o 0‘|§C‘|S—l+(m))(h
: —7+( 1059 )><3
- olgds = 2(40) — 30— 16

10
mges=7+(80_46>x3

10
- Ugds = 7+ (g) X 3

30
O'IgC‘ls =7 +ﬁ

- Ugds = 7+ 0.88

- ClgHS = 7.88
dell, 2~A2Rldl oigds 7.88 .

oflAg] Qe As UlRelall 30 [AeneRAa 9ol 2110 B. [AuieflRAloll dYoiall HeY N :

a4 ([Zaumi) 40 - 45| 45-50]50-55 | 55-60 |60 -65 | 65-70 |70 - 75
[Qenallziil 2iva 2 3 8 6 6 3 2
. HERRY
. [QuiefRAo .
goyal ([s211341) . AU A9 M1 (cf)
AW (f;)

40- 45 2 2

45 -50 3 2+3=5

50 -55 8 5+8=13
55-60 6 134+6 =19

60 - 65 6 19+ 6 =25
65-70 3 25+ 3 =128
70-75 2 28+ 2 =230

§d 30

&d,n =30, qdl, 2= ? = 15 5di 3¢ 2Aadlsel (19) 31 55 — 60 i B. del,
HEA2Y 93| = 55 — 60

HeRY gdlofl 9ol doflegf = 5

He1e galofl 214:2{141 (1) = 55

He128 gdlofl A119[T (f) = 6

He228 Ydlofl AA121N6l1 Y2¥al] 2441 41d(TH (cf) = 13
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 HERRY = + X h
f
%—13

t HERJYRY = 55 + G X5
15-13

. Hw%&:55+( c )><5

2
3 HE/?JE&=55+€X5

5
w HERYRY = 55 + 3
+ HERYRY = 55 + 1.67
~ HERIRY = 56.67

aell, gofeioll 3€2€ 56.67 (521 B.



